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6. (a) Find the range of values of k for which the quadratic equation
2% + ke +18=0
has no real roots. 4

(b)  Solve the inequality 10x> ~x -3 > 0. 6]
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10. (a) Solve the inequality 2>~ 3x—9 > 0. [31
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(i)

Find the range of values of m for which the quadratic equation
307 —6x+m=0
has no real roots.
The curve C has equation y = 3x2 —4x + 7. The line L has equation y = 2x + k, where

k is a constant. Given that L and C do not intersect, find the range of possible values
of k. 71
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5. Given that the quadratic equation
k=227 +8x+k=0
has no real roots, show that
3k%-2k—16>0.
Find the range of values of & satisfying this inequality. 7
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6. (a) Given that k # -1, show that the quadratic equation
k+1Dx% + 2ke + (k= 1)=0
has two distinet real roots. 41
(b)  Find the range of values of x satisfying the inequality

52+ 7x-6 < 0. [3]
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5. (a) Find the range of values of k for which the quadratic equation
k?+3x-5=0
has no real roots. 4

(b)  Solve the inequality 2¢?—x - 6>0. 6]




